
Projekt:   Werkstückanschlag 

Aufgabe:   Bolzen Pos. 7; 1. Aufspannung

Programmierung: Siemens ShopMill 

Autor:
Klasse:
Datum:

%_N_BOLZEN_SP1_POS7_MPF
;$PATH=/_N_WKS_DIR/_N_VDW_01_WPD
 

45G 1 .vtkplluN7SOP_1PS_NEZLOB    5N

Programmkopf
45G 1 VPN : gnubeihcsrevtknuplluN

mm :mmargorP setmaseg rüf tiehnießaM
::liethoR

sba 000.01-    =  0X :1 tknupkcE
sba 000.61-    =  0Y :1 tknupkcE

sba 000.0      =  0Z :1 tknupkcE
 000.01     =  1X : 2 tknupkcE
 000.61     =  1Y : 2 tknupkcE
 000.02-    =  1Z : 2 tknupkcE

Z :eshcaguezkreW
sba 000.02    =  PR :enebesguzkcüR

kni 000.2     =  CS :dnatsbastiehrehciS
fualhcielG ::nnisherdsgnutiebraeB

PR fua ::retsum-.soP guzkcüR
 

N10   Zentrieren                                                                           T="NC-ANBOHRER_D6"  F150/min S3000U Ø4.

Zentrieren
1D "6D_RERHOBNA-CN" =   T : emanguezkreW

nim/mm 000.051    =   F : buhcsroV
nim/U 0003       =   S : lhazherdlednipS

ressemhcruD :eztipS/ressemhcruD
 000.4      =   Ø :gnureirtneZ red ressemhcruD
s 000.0      =  TD :nednukeS ni tiezliewreV

 

N15   Tiefbohren                                                                           T="BOHRER_6.8mm" F320/min S1500U Z1=21ink

Tiefbohren
1D "mm8.6_RERHOB" =   T : emanguezkreW

nim/mm 000.023    =   F : buhcsroV
nim/U 0051       =   S : lhazherdlednipS

nehcerbenäpS :nehcerbenäpS/nenapstnE
tfahcS :eztipS/tfahcS

kni 000.12     =  1Z :0Z fua negozeb efeiT
 000.4      =   D :gnulletsuZ elamixam

% 000.001    =  FD :gnulletsuZ eretiew edej rüf ztastnezorP
000.1      =  2V :gartebsguzkcüR

s 000.0      =  TD :nednukeS ni tiezliewreV
 

N30   Gewindebohren                                                                  T="GEW.BOHRER_M8"  P1.25mm S850U Z1=24ink

Gewindebohren
1D "8M_RERHOB.WEG" =   T : emanguezkreW

U/mm 052.1      =   P :gnugietsedniweG
nim/U 058        =   S : lhazherdlednipS

nim/U 0011       =  RS : guzkcüR rüf lhazherdlednipS
ttinhcS 1 :nehcerbenäpS/nenapstnE/ttinhcS 1

kni 000.42     =  1Z :0Z fua negozeb efeiT
 

N25   001: Positionen                                                                   Z0=0 X0=0 Y0=0

Positionen
gilkniwthcer : 

sba 000.0      =  0Z :ehcälfrebokcütskreW ehöH
sba 000.0      =  0X :noitisoP .1
sba 000.0      =  0Y :noitisoP .1

 

1=NednemmargorP      

1 =   N ::ekcütskreW lhaznA
 



Arbeitsplan: 

Volumenmodell: 


